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(2 - A)

If the points ( — 2, - 3), (k, 4) and (5, b) are
collinear, then find the value of k using given
slope.

4'2 '

(A) — (B) 2‘"
8

3 35

(C) > (D) —8—

If 3% - ¥ =27 and 3 + ¥) = 243, then the
value of x will be 4}

(A) 6 (B) -
2

(C) 4 (D) 2

Find the variance of the following data :
2,4,6,8,10

(A) 125 (B) 10

(C) 44-44 (D) 8

A cubical box has each edge 10 cm and

another cuboidal box is 12'5 cm long, 10 ecm

wide and 8 ¢cm high. Which one of the - boxes

has the greater lateral surface area and hy
how much ?

(A) Cuboidal box, 35 cm?
(B) Cuboidal box, 40 cm?2
(C) Cubical box, 40 cm?2.
(D) Cubical box, 35 cm?2

Two pipes A and B can fill a cistern in

g7l
2

Both pipes are opened. The cistern will be
filled in just half an hour, if pipe B is turned
off after ¢

(A) 12 minutes (B) 6 minutes
(C) 17 minutes (D) 9 minutes

Find the missing number in the following
series : ;

5, 10, 13, 26, 29, 58, 61, (....)
(A) 122 (B) 64
(C) 105 (D) 74 .
A person crosses a 600 metres long street
in 5 minutes. What is his speed in km per
hour ?

minutes and 45 minutes respectively.

(A) 012 (B) 72
(©) 005 D) 05
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In what ratio must a grocer mix two varieties
of pulses costing ¥ 15 and ¥ 20 per kg
respectively so as to get a mixture worth
T 1660 per kg ?

(A) 3:7 (B) 5:7
(C) 5:3 (D) 7:3
L ¢7 1
w9, (9 h+?—¥:_,_
Find the value of x : '_'f't? ¥ = &
- 27 Y 3
1 . £7 1 2 E L =
4§‘+3E+X+2§ = 13— % K
g K 2 66 4o
A) 3= B) 4= —
@ 3= ®) 4= 24 %
-
© =g (D) Nomeofthese 2%

o -4 = 2

The difference in the age of two people is
20 years. If 5 years ago, the elder one of the
two was 5 times as old as the younger one,
what is the present age of the younger one ?
(A) 15 years (B) 10 years
(C) 30 years (D) 20 years

For real a, b, c if a2 + b2 + ¢2 = ab + bc + ca,

s

then the value of gic

A) 1
© 3

(B) 2
D) 0

Which is the largest number among 32,
3J7, 6v5, 2/20 numbers ?

(A) 32
(C) 6v5

(B) 38J7
(D) 2J20
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If A and B are complementary angles, then
what will be the value of
gin Acos B+cosAsinB-tanAtanB +

secZA — cotZB ?

(A) B @

©) @ V2

o o

Someone flies a kite with a 150 m long
thread. If the kites thread forms an angle of
60° with the horizontal line, then the height
(assume that the thread is in straight line) of

the kite from the ground is
(A) 50m (B) 253 m
(D) 80m

(C) 753 m

By looking from the top of a 90 m high peak,
the depression angles of the top and bottom of
a tower are 30° and 60° respectively.
Accordingly, what will be the height of that
tower ?

(A) 45m
(C) 75m-

.(B) 60 m
(D) 30m
The monthly budget of a person getting
< 18,000 monthly salary has been given in

the following pie-chart. Study the pie-chart
and answer the question.

. Education

How much lesser is the monthly expenditure

on education than the monthly expenditure
on rent ? :

(A) T 250
(C) ¥ 750

906600

(B) ¥ 200
(D) ¥ 500
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In the following pie-charts the percentage of
candidates who were admitted in seven
different schools and who passed in the
Class 10, CBSE examination are given. Study
the pie-charts and answer the question.

Candidates admitted = 8550

R
15%

What is the difference between the number of
candidates who passed by adding schools _
A and D and the number of candidates
admitted by adding schools E and C ?

(A) 299 (B) 379
(C) 399 (D) 439

In A ABC, AD is median, and AD = %BC.
Accordingly, if ZBAD = 30°, then what will be
the measurement of ZACB ?

(A) 90° (B) 45°

(C) 30° (D) 60°

In A ABC, PQ is parallel to BC. Accordingly, if

AP :PB=1:2and AQ = 3 cm, then what will
AC be equal to ? .

(A) 6cm
(C) 12em

(B) 9cm
(D) 8em
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1
A tank has 135 litres water if it is filled Z If

it has 180 litres water, then what part of the
tank is filled 7

(A) (B)

Wl |
D= o=

€ .(D)

The ratio of two numbers is 4 : 5 and their
LCM is 180. Then the small I}umber is

(B) 15
(D) 45

~f

(C), 36

LCM of two numbers is 44 times of their
HCF. The sum of LCM and HCF is 1125. If
one of them is 25, then the second will be

(A) 1100 (B) 975
(D) 800
Four different bells ring at intervals of 5, 6, 8
and 10 minutes, respectively. If they ring

together at 4 o’clock in the evening, then
when will they ring together again ?

(A) 5pm (B) 6pm
(C) 8pm (D) 10 pm
What will be the HCF of i and i ?
_ 1136 36
11 21
AN T L
® 306 ® 306
31 41 )<
C o4 =L '
© 306 (b 306

One year ago, the ratio of Sakshi’s and
Satakshi’s age was 6 : 7. Four years hence,

their ratio would become 7 : 8. How old is
Satakshi ?

(A) 40 years
(C) 35 years .

(B) 36 years
(D) 31 years
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.51. Fillin t}ole'blank with appropriate conjuction :
. He was injured, he drove on.
(é) as (B) nevertheless
(C) although D) otherwise
52. Give one word for :
Person who knows o can speak many
languages ' ?
) Polyglot (B) Polygyny
C) Polyandry (D) Potable
53. Complete the analogy :
Carpenter: House, Writer : Book, Composer : ?
(A) Symphony (B) Scalpel
(C) Debris (D) Bread
54 Stat.e the synonym of the word given below :
Invincible

_AA) Powerful
(C) Beatable

(B) Breakable
(D) None of these

Select antonym ﬁf the

55. given word :
Insolent ; :
(A) Extraordinary (B) Humble
_(C) Rude (D) None_of these
66. Fill in the blank with the correct form of

present perfect tense.
The company’s current manager
repeatedly to her employees.
(A) has lied (B) lied
- /(QJ is lying - (D) had been lied

Identify the irregular form of verb from
the following options.

(A) Worked (B) Played

£E) Listened (D) Began

Choose the correct full form of the acronym
given in bold : _

We went scuba-diving in Australia.

(A) self-contended ~ underwater breaking

57.

4

apparatus
(B).. self-contained underwater breathing
~/ apparatus
}QJ) self-consistent underwater breaking
* apparatus
(D) self-complete  underwater  breaking
apparatus
59. Choose the correct adjective :
It takes two hours on the train but it is
longer by road.
(A) alittle bit (B) better
(C) totally 9)) unusually
AL 2019 ' (9 -

60. Choose the correct spelling :
(A) Cllone (B) Colonel
(C) Colnel (D) Colnole
61. Choose the correct simile :
The truth was like a taste on his
tongue.
(A) bad (B) bitter

. (D) sour

ﬂ) sweet

62. Which sentence uses punctuation correctly ?

%A) the Past is a foreign country they do
things; differently there

(B) The past is a foreign country , they do
things differently there. :

(C) The past is‘a foreign country they do
things differently there

(D) The past is a foreign country; they do
things differently there.

63. Complete the sentence with the correct
adverb :
Heisenberg looked
body.

(A) gracefully

(C) away

from the dead

(B) tomorrow
(D) accurately

64. Fill in the blank with the correct verb :

Aegon Targaryen and his sisters the
Seven Kingdoms.
(A) conquered

(C) thought

AB) assist
(D) give

65. Change the active voice to passive voice :
Active : People drink champagne on New
Year’s Eve.

(A) Champagne is been drinking on New
Year’s Eve.

Champagne that was drunk on New
Year’s Eve. '

Champagne was drunk on New Year’s
Eve,

Champagne is drunk on New Years Eve

(B)
-
()

(D)

A)
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Choose the correct meaningful sentence | 71,
formed from the words given below :
nssignmunlﬂutufwnsfshehnnnngcdlsliclto/
complete the/even though/,
(A) Even though she was late, she managed
to complete the assignment.
(B) She  managed to - complete  the
assignment, she was late even though,
(C) She was late, even though she managed
to complete the assignment. _
(D) Even though, she managed to complete
the assignment she was late.
67. Choose the correct answer from the given .
options, the phrase or words that, gives the
‘same meaning as the word is bold and
italicized in the sentence given below :
When the thief saw the sentry at the main
gate, he managed to get off from the attack.
(A) hide himself , (B) "escape
(C) overpowered (D) spread =
68. Choose the correct alternative out of the four
choices to complete the sentence :
Economic goods are those goods which are
in quantity as compared to —demand.
(A) expensive/it (B) ' limited/their
(C) stable/its (D) .available/those
69. Which of the given options should replace the
phrase printed inbold type to make it
grammatically correct ? '
They were all shocked at his failure in the 74.
competition.
(A) were shocked at all
(B) had all shocked at
(C) had all shocked by
(D) No correction required
70. Out of the four alternatives, choose the one
which best expresses the meaning of the 75.
idiom/phrase in bold and italics.
He is a plain, simple and sincere man. He will
always call a spade a spade.
(A) aggravating the situation
(B) putting others in trouble
(C) be outspoken in language
(D) talking nonsense
AL 2019 (10 - Al
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. (C) Fib: Lie

Choose the correct option : '
Today most businessmen are very worried. To

begin with, they are not used to competition.
In the past they sold whatever ...... produced
at whatever prices they chose. But
increasing competition, customers began to
...... and choose. Imports suddenly became ......
available and that too at cheaper prices. .

(A) they/with/pick/easily ' '

(B) it/by/buy/hardly

(C) he/after/take/frequently

(D) we/from/want/conveniently

From the given alternatives, choose the one
which best expresses the given sentence in
Passive/Active voice.

Do you imitate others ?

(A) Are others being imitated by you ? ~

(B) Are others imitated by you ?

(C) Have others being imitated by you ?

(D)" None of these

Read each sentence to find out whether there
is any grammatical error in it. The error, if
any will be in one part of the sentence. The
letter of that part is the answer. If there is no
error, the answer is ‘D’. (Ignore the errors of
punctuation, if any).

It is the newspaper

That exposes us to the widest range _
Both It is the newspaper & that exposes
us to the widest range

No error

B)
(©)

(D)

The given question consists of two words
which have a certain relationship to each
other followed by four pairs of related words.

Select the pair which has the same
relationship.

Hope : Aspires
(A) Love : Elevates (B) Film: Flam
(D) Common:Ghostly

Choose the correct meaning of proverb/idiom.
If there is no correct meaning given, D (i.e.)
‘None of these’ will be the answer,

To set one’s face against

(A) To oppose with determination

(B) Tojudge by appearence

(C) To get out of difficulty

(D) None of these

906605
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Who wrote ‘Malgudi Days’ ?
(A) Arundhati Roy
(B) Sarojini Naidu
(C) R.K. Narayan

(D) Rabindranath Tagore

Which  of the following gases in our
atmosphere absorbs the harmful UV rays of

the Sun ?

(A) Methane (B) Ozone

(C) Helium (D) Neon

“Iris” is a part of which human organ ?
(A) Ear ~ (B) Eyes

(C) Intestine (D) Brain

Which of thesé is the hereditary material that
is transferred from parents to offspring ?

(A) Hormones (B) Genes

(C) Pathogens (D) Antigens .

FM radio broadcasts are a popular mode
of communication today. What does FM stand

for ?

(A) Frequéncy Modulation

' (B) Flexible Module

(C) Frequency Mixing

(D) Flexible Multidimension

Which of these cities was the capital of India

before Delhi became the capital in 1911 ?
(A) Indore (B) Shimla

(C) Calcutta (D) Bangalore
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Which of the following animal sanctuaries is

home to Asiatic Lions ?
(B) Corbett

(D) Bharatpur

(A) Kaziranga

(C) Gir

Which of the following is 2 radioactive metal ?
(A) Iodine (B) Radium

(C) Chromium (D) Lithium

Which country hosted the 9th BRICS Summit

in 2017 ?
(A) Russia (B) India
(C) China, (D) Brazil

Under whose leadership was the All India

Muslim League set up ?

(A) Muhammad Ali Jinnah
(B) Sayyid Ahmad Khan
(C) Aga Khan '

(D) None of these

Kaziranga National Park is famous for which
of these animal species ?

(A) Asiatic lion
(B) Rhinoceros
(C) Panda

4 (D) Hipp opot amus

Who is the current Chairman of Tata Group

‘of Industries in India ?

(A) Cyrus Mistry

(B) Natarajan Chandrasekaran
(C) Ratan Tata

(D) Pawan Munj al
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The Nobel Prize is awarded by
(A) England (B) Ireland

(C) Sweden (D) USA

International AIDS Da}; is celebrated on

(A) 1%t December (B) 15t November

(C) 11th December (D) 11th November

Name the 29th State of India formed in the

year 2014.
(A) Uttarakhand = (B) Chhattisgarh

(C) Telangana (D) Odisha

Where will the next Summer Olympics of
2020 be held ?

(A) Tokyo

(B) Delhi

(C) Riode Janeiro

(D) Abu Dhabi

‘Anandamath’, the famous book, was

- authored by

(A) Rabindranath Tagore

(B) Sri Aurobindo

(C) Bankim Chandra Chattopadhyay

- (D) None of these _

India entered into space age bz,; launching the

satellite ‘Aryabhata’ in the year
(A) 1932 (B) 1965

(C) 1975 (D) 1990
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94. What is the currency of China ?
(A) Dinar (B) Yuan Renminbi

(C) Dollar (D) Pound

95. Who was the father of Tipu Sultan ?
(A) Hyder Ali (B) Babur .
(C) Sher Shah Suri (D) Din-e-Ilahi

96. The famous Indian player, Jude Felix, is
" associated in which of these sports ?

(A) Football (B) Hockey
(C) Tennis (D) Basketball

97. Santiago is the capital of
(A) Congo (B) Cuba
(C) Croatia (D) Chile

98. The new symbol of Indian Rupee is a bleﬁd of
(A) Persian R and Roman R
(B) Roman R and Pound
(C) Devanagiri Ra and Dollar
(D) Devanagiri Ra and Roman R

99. When was the Battle of Plassey fought ?
N
(A) 1757

(C) 1749

(B) 1743
D) 1753

100. Which among the following actors acted in
the title role in the movie ‘Gandh1’ Y3

(A) Ben Affleck

(B) Surendra Rajan .
(©) Bernard Shaw
(D) Ben Kingsley
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